APPLICATIONS

air conditioning and heating

NOTICE
temperzone limited Head Office & Factory
Private Bag, Otahuhu, Auckland, New Zealand.
38 Tidal Road, Mangere.
Fax NZ (09) 275-5637
Phone NZ (09) 275-0735

Pleasereplyto: 5 1yoR1,AND

TO: AUTHORISED DEALERS
APPROVED INSTALLERS
SERVICE MANUAL HOLDERS
H.O., REG. & AUST. MGRS

ISSUE NO.:

02/92

DATE: 6 MAY 1992

FROM: C. SNELL / K. EDWARDS

SUBJECT: REPLACEMENT OF IMPELLERS AND MOTORS ON CONDENSING UNITS

UNITS: SCR 150, SCR 250

NOTE: SUPERCEDES ISSUE 6/87 AND 9/90

1. SCR 150 AND SCR 250

(a) Should your unit be fitted with a 16" dia aluminium impeller and

the old UE motor (on pre 1987 models)

and either the impeller or

the motor has failed then the entire assembly must be replaced (see

Figures 1 and 2) by the following:

Item

Universal Electric Motor
16" Plastic Impeller
Plastic Fan Cap '
Bissell Pin

Part Number

021
021
021
021

Single Arm Fan Motor Bracket (one set) 022

M8 x 25mm long Coach Bolts (3 reg'd)

M8 Spring Washer (3 required)
M8 Nuts (3 required)

M6 x 40mm long Machine Screw
M8 Washer (81D x 20 OD)

M6 Washer

Fig. 1 Replacement Motor Assembly
FLATS ON SHAFT

046
018
018
060
018

Factory

Factory
Factory
Factory
Factory
Factory

000
000
000
000
154

129
051
052
035
001 |

Supply
Supply
Supply
Supply
Supply
Supply

FIX FAN TO SHAFT USING M5 X 20mm OR M8 X 40mm

LOCATE FAN MACHINE SCREW. C/W M8 AND M6 WASHERS

FIT BISSELL PIN TO HOLE

(RESPECTVE TO FAN DIRECTION)

T

\M——_____~_USEM8X25mmCOACH

BOLT. CAW SPRING WASHER

AND NUT TO ASSEMBLE

AND CLAMP MOTOR.

USE EXISTING
SCREWS,ETCTO

FIXTO FAN PLATE

The final position of the motor/impeller assembly should leave 1/3

of the impeller beyond the bellmouth edge.

See Figure 2.

Wellington Sales Office: Christchurch Sales Office: Australian Head Office & Factory:

20 Raroa Road 53 Victoria Street, Christchurch 10 Garling Rd

P.O. Box 30-386, Lower Huit P.O. Box 13-017, Armagh, Chch. P.O. Box 448, Blacktown, NSW 2148
Fax (04) 566-6249 Fax (03) 795-956 Fax (02) 622-3154

Phone (04) 569-3262 Phone (03) 793-216 Phone (02) 671-5055

Also:
Melbourne
Adelaide
Perth
Brisbane

Townsville
Newcastle
Hobart
Singapore
Hong Kong




ISSUE 2/92
Fig.4 SCR 150 & 250 Wiring Diagram
=)
o (5
R R £ IR
| -] T T T
| oo B 1E
& g5 ! <18
! 7 €9 i 2,5
T @ GREEN
| & §><- /J [
i § SE / J7J ¥*
/ SENOTE %—4} HEATER
Zix z /R @ RELAY
ol‘é = e —— HPAP V1
g's w H-{._}.-‘ SWITCH HEAT PUMP | L
! ot g - VALVE 1
} \ I ]
! / & S ¥
-— Low
! BLAGK | AMBIENT
| N
1
R FUSE 54 z ;
g = ol
E = Z)
P e K Be |
53
Should your unit be fitted with a 16" plastic impeller with a l4mm

bore and either the motor or impeller has failed then as in
item(a), page 1, the entire assembly must be replaced and the re-
placement instructions relating to item (a) adhered to.

Should your unit be fitted with a 16" plastic impeller with a
12.7mm bore and with either the 40 watt or 65 watt Elco motor and
the motor has failed, the motor will have to be replaced with the
UE motor (part number 021 046 000 129). This motor is a little
larger in diameter than the Elco motors, however the existing
brackets are adequate if a larger gap (approx 20mm) is allowed.

When replacing an Elco motor the existing capacitor is retained and
either medium or low speed selected. The exception to this is when
the condenser fan is speed controlled and in these cases the exist-
ing capacitor is replaced with a 2 mic capacitor, the motor as men-
tioned previously is put onto high speed.

PAGE 3






